
Think together

2  Which items are lighter than  ? Which items are

  heavier?

1  Which is heavier? Which is lighter?

 is down and  is up.

 is  than  .

 is  than  .

 <  > 

One scale is balanced. 
I can’t see which item 
is heavier! 

146

Unit 11: Introducing weight and volume, Lesson 1



➜ Practice book 1B p104

3  Who is correct?

Sam

Maria Hassan

The balloon 
will go down 
because it is 
bigger.

The balloon 
will go up 
because it 
is lighter.

They will be 
equal because 
they are the 
same shape. 

The egg 
will go down 
because it 
is lighter.

Katie

I think the 
bigger items 
are heavier.

Is that 
always true?
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